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bining Euclid’s informal writings with his own extensive proofs in the timeless

Disquistiones Arithmeticae.

2.2 Divisibility

When an integer is divided by a second integer(# 0), the quotient may or may
not be an integer. For instance, 36/6 = 6 is an integer, while 18/7 = 2.5 is not.

This observation leads to the following definition.

Definition 2.2.1. If a and b are integers, we say that b is divisible by a(# 0)
if there exists an integer ¢ such that b = ac. Also, we say that a is a divisor or
factor of b, denoted by alb. If a does not divides b, then we write a1 b.

Example 2.2.1. 10 is divisible by 5 because there exist an integer 2 such that
10 =5 x 2. We say 5|10.

Proposition 2.2.1. For any integers a, b, c,d the following statements are true:
1. al0,1]a,ala.
2. alb = calch,Vc € Z.
3. alb and blc = alc.
4. alb and bla = a = +b.
5. alb and al|c = a|(bx + cy) for arbitrary integers x and y.
Proof. 1. Obvious.

2. Here,

alb = b= da for some integer d,
= cb = d(ca)

= calcb.

3. Here, a|b = b = aq and c|d = d = c¢p for some integers p and g. Therefore
¢ = a(pq). Hence bd = ac(pq). Therefore ac|bd, as pq is an integer.

4. Here, alb = b = ap for some integer p. Also, blc = ¢ = bq for some integer

g. Therefore ¢ = bqg = a(pq). Therefore alc.

5. Here, alb = b = ap for some integer p. Therefore b = bpq. Also, bla = a =
bq for some integer ¢ implies pg = 1. As p, q are integers either, p =¢ =1
or p=q = —1. Therefore a = +b.
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6. Here, alb = b = ap for some integer p and Here, alc = b = agq for some
integer ¢q. Therefore bx + cy = apz + aqy = a(px + qy). Now, pr+qy € Z
as p,q,x,y € Z. Therefore a|(bzx + cy).
O

Theorem 2.2.1. The Division Algorithm: Given any two integers a and b, with

b > 0 there exists unique integers q and r such that a = bq + r with 0 < r < b.

Proof. Let a and b be two fixed integers with b # 0. Let A = {n € Njn =
a—by,y € Z}. Our claim is A # ¢. For this there are two possibilities viz:

1. If a > 0, then a —b(0) = a > 0. So a — by is non—negative for y = 0(a > 0).

2. If a < 0, then —a > 0. Since, b is a positive integer, we must have b > 1.
Multiplying the inequality by a positive quantity gives, (—a)b > (—a)
implies a —ab > 0. So a— by is non—negative for y = a(< 0). Hence A # ¢.

Since, A C N, by well ordering principle A has a least element say r. Since,
s € A, therefore, r = a — by for some y = q. Thus we found integers r and ¢
such that » = a —bg or a = r+bq. Since, r € A, therefore » > 0. Next our claim
is 7 < b. On the contrary, if we assume r > b, then 0 <r—b = (a —bqg) — b =
a —b(qg+ 1) < r, which leads to a contradiction as r is the least in A. Hence
7 < b. Thus we found two integers ¢ and r such that a = bqg + r with 0 < r < b.
The last part of the proof deals with the uniqueness of ¢ and r with the
above properties. If possible, let there be two pair of integers r,,q, and r,,q,
satisfying
r,+bg, =a=r, +bq, (2.2.1)

with
0<7r <band0<r,. (2.2.2)

We need to prove r, =r, and ¢, = g,.
If r, <r,, then 2.2.1 shows

b(g, —q,) =r, —r,. (2.2.3)

Since by hypothesis, b > 0,7, > r,, therefore ¢, — ¢, must be a non negative
integer. Hence r, — r, must be one of 0,0,2b,3b,.... But 0 < r, <7, <b
implies r, —r, = 0. Hence by 2.2.3 and the preceeding equation together with
the hypothesis b > 0, we have ¢, = ¢,. Similarly, taking r, > r,, proves the

uniqueness of ¢ and 7. O
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For another proof we give explicit formulae for the quotient and remainder
in terms of the greatest integer function, which will be done in the consequent
chapter of the book.

Remark 2.2.1. 1. When bt a,r satisfies strong inequality 0 < r < b.
2. Here q and r called quotient and remainder.

3. bq is largest multiple of b which does not exceed a.

Example 2.2.2. Suppose we are dividing 51 by 5 then, 51 =5 x 10+ 1. Com-
paring with the theorem we get, a = 51,b = 5,q = 10,7 = 1.Here ¢ = 10 1is the
quotient and r = 1 is remainder.

Corollary 2.2.1. Ifa,b be two integers with b > 0, then there exists integers @
b
and R such thata =bQ + R, 0 < R< 5

Proof. From Division algorithm we have, for any two integers a and b with b > 0,

there exists unique integers ¢ and r such that
a=bg+r, 0<r<b (2.2.4)

We now consider three following cases: Case(i): Let r < % and taking ¢ = @

and r = R in equation (2.2.4), we have
a:bQ+R,0§R<g
Case(ii): Let r > 2, then from equation(2.2.4)
a=bg+r
=bg+1)+(r—0)
=blg+1)—(b—r).

Taking ¢+1 = Q and b—r = R, we have a = bQQ— R where R = b—r < b—% = %.

Therefore a =bQ — R, 0 < R < %. Now combining case (i) and (ii) we have,
a=bQ+R, O§R<g
Case(iii): Let r = £, then from equation(2.2.4)
a=0bQ + R, where g =Q andr:R:g
Again from the equation(2.2.4) we have,
a=bg+r=>bg+1)—(b—r)=0bQ+R
where ¢+ 1= Q and —(b—r) = R that is R = —b+ 2 = —2. Which shows

that @ and R is not unique in this case thus case(iii) is not possible. O
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Remark 2.2.2. (i) Here in the above proof @ and R are unique except when
R = %. In this case that is for R = g, R is called minimal remainder or the
absolutely least remainder of a with respect to b.

(ii) When r < &, the minimal remainder is R = r.

(iii) When r > &, the minimal remainder is R =r — b.

Here we have done an illustration of the concept minimal remainder by an
example. Let us choose a = 51 and b = 6 then 51 = 6 x 8 4+ 3(of the form
a=bQ+ R, Q=28, R=3). Also we can write 51 = 6 x 9 — 3(of the form
a=bQ —R, Q=9, R=3). Thus Q and R are not unique as R = % = 3.
Which is case (iii) of above corollary.

Now if we choose a = 50 and b = 6 then 50 = 6 x 8 + 2. Thus in this case
r=2< % = 3 and the minimal remainder is R = 2. Which is case (i) of above
corollary.

Now if we choose a = 52 and b = 6 then 52 = 6 x 8 + 4. Thus in this case
r=4> g = 3 and the minimal remainder is R=r—b=4—6 = —2. Which is

case (i) of above corollary.
Theorem 2.2.2. Prove that every integer is of the form,
1. 3k or 3k £ 1.
2. 4k or 4k £1 or 4k £2.
3. 5k or 5k £ 1 or 5k £ 2.
4. 6k or 6k +1 or 6k +2 or 6k £+ 3.

Proof. From the above corollary any integer a is of the form

b
a = bk £ r where b, k,r € Zand 0 < |r| < 3 (2.2.5)
3
1. When b = 3, we get from 2.2.5 a = 3k = r where 0 < |r| < 5 = 1.5.
Therefore r = 0, +1.
4
2. When b = 4 we get from 2.2.5, a = 4k £ 7,0 < |r| < 5 = 2, 1.e. T =

0,+1,42. Therefore a = 4k, 4k + 1,4k + 2.

3. Rests treated as exercises.
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2.3 Worked out Exercises

Problem 2.3.1. For any two integers a and b with b > 0, there exists unique

b
integers q, and r, such that a = bq, + cr, where 0 <r, < = +1.

Solution 2.3.1. By division algorithm we have a = bq + cr,0 < r < b.

b
Case I r < 5 take q, = q,¢c = 1,r, = r. Therefore a = bq, + cr,,0 < r, <
ble==1.

Case II r > %, therefore 0 < b—1r < % take q, = q,+ 1,7, =b—7 and ¢* = —1,
therefore, a = bq, + cr, where 0 <r, < %70 =-1.

b
Case III r = & then q, =q,c= 1,7, =r. Therefore a = bq, +cr,,r, = i’C: 1

2 101

and if ¢, = q+ 1,7, =b—r and ¢ = —1. Therefore a = b(q+1) — (b —
b
r) = bq, + cry,, 5= r,c = —1. In this case q, and r, is not unique, so

c
a=bq, +cr,,0<r, <5 =41

Problem 2.3.2. Show that every square integer is of the form 5k or 5k +1 for
some k € Z.

Solution 2.3.2. Note that every integer is of the form 5p,bp£1,5p+2 for some
p € Z. Square of these numbers are of the form:

(5p)? = 5 x 5p? = 5k, where k = 5p* is a positive integer
Gpx1)2=25p> £ 10p+1=50(p? £2p) +1 =5k + 1, wherek =5p* £ 2p + 1€ Z
(5p£2)% = 25p% £ 20p + 4

=50p*£4p+1) -1
=5k —1,wherek =5p> +4p+1 € Z.

Problem 2.3.3. Show that cube of any integer is of the form 9p,9p + 1,9p +
8(or9p,9p £ 1).
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Solution 2.3.3. Here,

(3m)® = 27m?® = 9p, where p=3m>® € Z
(3m + 1) = 27m> +2Tm? + 9m + 1
=9(3m® +3m? + m) + 1
=9p+1, where p=3m> +3m*> +m e Z
(3m —1)* = 2Tm® — 2Tm* +9m — 9 + 8
=93m® —3m*+m—1)+8
=9p+8, wherep=3m>—3m*>+m—-1€Z
Also, (3m —1)3 = 9(3m® — 3m? +m) — 1
=9p — 1, where p=3m> —3m?+m e Z.

a(a®+2)
3

Problem 2.3.4. Prove that the expression is an integer for a > 1.

Solution 2.3.4. Applying Division Algorithm, any integer a can be expressed
in the form 3q,3q+1,3q + 2. Taking a = 3q we obtain @ =q(9¢*> +2), an
integer. Similarly putting a = 3q+1 and a = 3q+2 we obtain (3q+1)(3¢*+2q¢+1)
and (3q + 2)(3¢* + 4q + 2) respectively, both of which are integers. Hence the

result is proved.

Problem 2.3.5. Show that one of every three consecutive integer is divisible by
3.

Solution 2.3.5. Let a,a + 1,a + 2 be any three consecutive integers, then a is
of the form 3p,3p+1,3p — 1 where p € Z. If a = 3p, then a is divisible by 3. If
a=3p+1, thena+2=3p+3=3(p+ 1) is divisible by 3. If a = 3p — 1, then
a+1=3p+1—1=3p is divisible by 3.

Problem 2.3.6. Find the minimal remainder of 416 with respect to (i) 37 (ii)
42.

Solution 2.3.6. (i) Here a = 416,b = 37. Therefore 416 = 37 x 11+ 9(Why!).

Therefore the minimal remainder is R = 9.

(ii) Left to the reader.

Problem 2.3.7. Show that a" ™" — (a — 1)n — a is divisible by (a — 1)?, a being

an integer.
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Solution 2.3.7. Since a € 7Z, we have

" (g—1)n—a=a(a"—1)—(a—1)n
=a(a—Ha(a" '+ +1) —n})
=(a-1{(a"+a" "+ +a)—n}

=(a-DH(@ " H+a" 24+ 1)+ (0" 1)+ + 1)

a

The given expression is divisible by (a — 1),

Problem 2.3.8. If both a and b are odd positive integers then a* + b* — 2 is
divisible by 8.

Solution 2.3.8. Let a = 2n1 + 1 and b = 2ns + 1 be the odd positive integers,
where n,,n, are positive integers. Thus we have,

(2n, + 1)* + (2n, + 1)* =2

= (2n1)4 +4- (2TL1)3 +6- (27’11)2 +4- (2711) +1+ (27’L2)4 +4- (2712)3 +6- (2n2)2
+4-(2n,)4+1-2

=16(n! + nl) + 16(n® +n2)+24(n +n?) +8(n, +n,)

= 8[2(n} +ny) +2(n] +n3) +3(n? +nl) + (n, +n,)].

Problem 2.3.9. Show that the product of two integers of the form 4n + 1 is

again of this form, while the product of two integers of the form 4n + 3 is of the
form 4k + 1.

Solution 2.3.9. Product of two integers of the form 4n + 1 gives us (4n +
Ddm+1) =4(dmn+m+n)+1=4k+ 1,k € Z. Similarly (4n+3)(4m+3) =
44mn+3m+3n+2)+1=4k+ 1,k € Z.

Problem 2.3.10. Show that the square of every odd integer is of the form 8k+1.

Solution 2.3.10. Let a be an odd integer. Then n = 2s+1, s being an integer.

Now, a®? = 4s(s + 1) + 1. If s is even, then s = 2m, m being an integer. Hence
a>=8m(2m+1)+1=8k+1,k=2m+1<Z.
If s is odd, then s =2m + 1. It follows,
=82m+1)(m+1)+1=8k+1,k=2m+1)(m+1) €Z.

Problem 2.3.11. Let m be a positive integer. We define

T(m) = e if m is even;
Smtl - if m is odd.
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We, then form the sequence obtained by iterating T;m, T (m), T(T'(m)), T (T (T
(m))),. ... Forinstance, starting withm = 7 we have 7,11,17, 26,13, 20,10, 5, 8,4,
2,1,2, 1, 2, 1,.... Awell-known conjecture, sometimes called the Collatz conjecture,
asserts that the sequence obtained by iterating T always reaches the integer 1 no

matter which positive integer m begins the sequence.
k—1
Show that the sequence obtained by iterating T starting with m = 3

where k is an even positive integer, k > 1, always reaches the integer 1.

Solution 2.3.11. If 3m is odd, then so is m. So T(m) = 22l = % =221
Since T'(m) is a power of 2, the exponent will decrease down to 1 with repeated

iterations of T.
Problem 2.3.12. Show that if a is an integer, then 3 divides a® — a.

Solution 2.3.12. Here a® —a = a(a—1)(a+1). Applying division Algorithm we
have a = 3k,a = 3k+1 ora = 3k+2, k being an integer. If a = 3k and a = 3k+
1, then 3|a and 3|(a — 1) respectively. Finally, if a =3k+2ie.a+1=3(k+1),

then 3|(a + 1). Combining, it shows 3|a(a —1)(a + 1) = a® — a.

2.4 Greatest Common Divisor

If ¢ and d be two arbitrary integers, not simultaneously zero, then the set of
common divisors of ¢ and d is a finite set of integers, always containing the
integers +1 and —1(hence, their set of common divisors is non-null). Now every
integer divides zero, so that if ¢ = d = 0, then every integer serves as a common
divisor of ¢ and d. In this case, the set of common divisors of ¢ and d turns to
be infinite. In this article, we are interested on the greatest integer among the

common divisors of two integers.

Definition 2.4.1. The greatest common divisor of two integers ¢ and d, that

are not both zero, is the greatest integer which divides both ¢ and d.
In other words, the above definition can be formulated as

Definition 2.4.2. If ¢ and d be two arbitrary integers, not simultaneously zero,
the greatest common divisor of ¢ and d is the common divisor e satisfying the

following:
1. e|a and elb.
2. If fla and f|b then e > f.

The greatest common divisor of ¢ and d is written as (¢, d) or ged(c, d).
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Example 2.4.1. The common divisors of 20 and 80 are £1,+2, £4, £5, +10and+
20. Hence ged(20,80) = 20. Similarly, looking at sets of common divisors, we

find that (12,18) = 6,(50,5) = 5,(19,24) = 1,(0,56) = 56, (—8,—16) = 8, and

(—19,361) = 19.

We can also define the greatest common divisor of more than two integers.

Definition 2.4.3. Letc,,c,,...,c, be integers, that are not all zero. The great-
est common divisor of these integers is the greatest integer which is a com-
mon divisor of all of the integers in the set. The greatest common divisor of

€y Coy- -y, 18 denoted by (c,,c,,...,c,) orged(e,,c,,...,c,).
Example 2.4.2. We see that (12,18,30) = 6 and (10, 15,25) = 5.

The following proposition can be used to find the greatest common divisor
of a set of more than two integers.

Proposition 2.4.1. Ifc,,c,,...,c, are integers, not simultaneously zero, then

ged(ey,¢yy.nahe,) = ng(Cl,CQ, ce (cn_l,cn)).

Before proceeding for proof, let us explain the proposition with an example:
To find the greatest common divisor of the three integers 105,140, and 350, we
see that ged(105,140,350) = ged (105, (140, 350)) = ged (105, 70) = 35.

Proof. In particular, a common divisor of the n integers c,,c,,...,c, is a divisor

and ¢, and therefore, a divisor of (¢, _,,¢, ). Also, any common divisor

n—17"n

of ¢, ,

of the n — 2 integers ¢,, ¢,,...,c,_, and (¢, _,,¢, ), must be a common divisor of
all n integers, for if it divides (c,_,,c, ), it must divide both ¢, , and ¢, . Since
the set of n integers and the set of the first n — 2 integers together with the
greatest common divisor of the last two integers have exactly the same divisors,

their greatest common divisors are equal. O

Next we are particularly interested in pair of integers sharing no common
divisors other than 1. Such pair of integers are said to be relatively prime or

coprime.

Definition 2.4.4. The integers ¢ and d, not simultaneously zero, are said to be

relatively prime(or coprime) if ¢ and d have greatest common divisor (a,b) = 1.
Example 2.4.3. Since, gcd(12,13) = 1 therefore 12,13 are relatively prime.

We can also define the relatively prime of more than two integers.
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Definition 2.4.5. We say that the integers c,,c,,...,c, are mutually relatively
prime(or coprime) if ged(c,,¢,,...,c,) = 1. These integers are called pairwise
relatively prime if for each pair of integers c,,c, from the set, ged(c,,c;) = 1,

i.e., if each pair of integers from the set is relatively prime.

If integers are pairwise relatively prime, they must be mutually relatively

prime(Verify!). However, the converse fails is shown from the following example:

Example 2.4.4. Consider the integers 15,21, and 35. Since (35,55,77) =
(35,(55,77)) = (35,11) = 1, we see that the three integers are mutually rela-
tively prime. However, they are not pairwise relatively prime, because (35,55) =
5,(35,77) = 7 and (55,77) = 11.

Remark 2.4.1. Since the divisors of —a are the same as the divisors of a, it
follows that ged(a,b) = (|al, |b]) (where |a| denotes the absolute value of a which
equals a if a > 0, equals —a if a < 0) and equals 0 if a = 0. Hence we can
restrict our attention to greatest common divisors of pairs of positive integers.

We will show that the greatest common divisor of the integers ¢ and d, not
simultaneously zero, can be written as a sum of multiples of ¢ and d. To phrase

this more lucidly, we use the following definition:

Definition 2.4.6. If ¢ and d are integers, then a linear combination of ¢ and d

is a sum of the form mc + nd, where both m and n are integers.
The following theorem relates definition 2.4.6 and greatest common divisors.

Theorem 2.4.1. The greatest common divisor of the integers ¢ and d, not
simultaneously zero, is the least positive integer that is a linear combination of ¢
and d.(In other words, given integers ¢ and d, not both of which are zero, there

exist integers m,n such that ged(c,d) = me+nd.)

Before proceeding for the proof, let us illustrate the theorem succinctly with

an example:

Example 2.4.5. Consider the case in which c =4 and d = 12. Here, the set S
becomes S = {4(-2)+12-1,4(-1)+12-1,4-0+152-1,...} = {4,8,12,...}.
Here 4 is the smallest integer in S, whence 4 = ged(4,12).

Proof. Let e be the least positive integer such that e = ma + nb holds, m,n
being integers.(Using the well-ordering property, there exist such least positive
integer, also at least one of two linear combinations 1-¢+0-d and (—1)-¢+0-b,

where ¢ # 0 is positive, do exist).
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Claim(i) e|c and eld.

Claim(ii) e = ged(c,d).

To fulfill Claim(i), applying Division Algorithm, we have ¢ = eq+r with 0 < r <
e. Now combining e = ma + nb and ¢ = eq + r, we obtain r = (I — gm)c — ¢nd.
This shows that the integer 7 is a linear combination of ¢ and d. Since 0 < r < e,
and e is the least positive linear combination of ¢ and d, we conclude that r = 0,
and hence e|a. In a similar manner, we can show that e|d.

For Claim(ii), all we need to show is that any common divisor f of ¢ and d
must divide e. Since e = ma + nb, if f|c and f|d, proves f|e. This completes
the proof. O

Remark 2.4.2. The foregoing argument is just an “existence” proof and does

not provide a practical method for finding the values of m and n.

The following theorem illustrates the relation between relatively prime inte-

gers and linear combinations(of relatively prime integers).

Theorem 2.4.2. Let ¢ and d integers, not simultaneously zero. Then c and d are

relatively prime if and only if there exist integers m and n such that 1 = mc+nd.

Proof. If ¢ and d are relatively prime then ged(c, d) = 1. By virtue of Theorem
2.4.1, there exist integers m and n satisfying 1 = mc+nd. In context of converse
part, assume that 1 = mc+nd for some choice of m and n, and that e = ged(c, d).
Because e|c and e|d, Proposition 2.2.1 yields e|(mec + nd), or e|l implies e =
1(Why!), and the desired conclusion follows. O

It is true, without adding an extra condition, that a|c and b|c together does
not imply ab|c. For instance, 6|12 and 3|12, but 6-3 1 12. Of course, if ged(6,3) =
1, then this situation would not arise. This brings us to Corollary the following

corollary:
Corollary 2.4.1. If c|le and dle, with ged(c,d) = 1, then cd|e.

Proof. As cle and d|e, there exist integers m and n satisfying e = mc+nd. Now
the relation ged(c,d) = 1 implies 1 = ck + dl for some choice of integers k and .
Multiplying the last equation by e, we obtain e = e -1 = e(ck + dl) = eck + edl.
The appropriate substitutions on the right-hand side allows e = ¢(ds)k+d(cr)l =
cd(sk + rl) implies cd|e. O

The following few propositions address some properties of greatest common

divisors.
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Proposition 2.4.2. Let a,b and ¢ be integers with ged(a,b) = d. Then

a b
1. -, =] =1.
gcd(d,d>
2. ged(a + ¢b,b) = ged(a, b).

3. ged(ma, mb) = md (m > 0).

b
Proof. 1. Here a, b are integers with ged(a,b) = d. Our claim is %, p have no

common positive divisors other than 1. Assume that e is a positive integer
b
such that e\g and e|g. Then, there are integers k, and k, with % = ke
b
and 7= k,e, satisfying @ = dek, and b = dek,. Hence de is a common
b
divisor of @ and b. Hence e = 1(Why!). Consequently, gcd(z, d) =1.

2. Here a,b and ¢ be integers with ged(a,b) = d. Its suffices to show that
the common divisors of a,b are exactly the same as the common divisors
of a+ ¢b,b = ged(a + ¢b,b) = ged(a,b). Let e be a common divisor of a, b.
Then e|(a + ¢b)(Why!), such that e is a common divisor of a + ¢b,b. If f
is a common divisor of a + cb, b we see that f|((a + cb) — cb) = a(Why!),

showing f is a common divisor of a,b. Hence ged(a + ¢b,b) = ged(a, b).

3. Since d = ged(a,b) then 3 integers = and y such that d = za + yb(by
Theorem 2.4.1). Then we have,

m(za + yb) = md
= z(ma) + y(mb) = md
As m > 0 then from the above equation we can assert that ged(ma, mb) =

mged(a, b) = md.
O

Proposition 2.4.3. Prove that ged(a,c) =1 if and only if ged(c — a,¢).

Proof. Every common divisor d of a and c is also a common divisor of ¢ — a
and a. Conversely, every common divisor d of ¢ — a and « is also a common
divisor of ¢ — a + a = c and a. Therefore the greatest common divisor of a and
¢ is the same as the greatest common divisor of ¢ — a and a. So in general,
ged(a, ) = ged(c — a,c) = 1. O

Proposition 2.4.4. Let a,b and c be integers with ged(a,b) = 1. Then

1. If ged(a,c) = 1, then ged(a,be) = 1.
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2. If ged(a,b) =1, and cla, then ged(b,c) = 1.

3. If c{(a +b), then ged(a, ¢) = ged (b, ¢) = 1.
4. If dlac, and d|be, then d|c.

Proof. 1. Since ged(a,b) = 1, and ged(a,c) = 1, therefore 3 z,y,u,v € Z
such that 1 = az + by = au + cv.

. 1= (ax + by)(au + cv),
= a(azy + byu + azu) + beyu,
=ak, + bck,, k, = axy + byu + axu, k, = yu.

Hence ged(a, be) = 1.
2. left to the reader.

3. Since ged(a,b) = 1,3 u,v € Z such that au+bv = 1. Also, c|(a+b) =dm
such that cn =a+b=cn—-b=a.

. (en —Db)u+bv =1,
cnu — bu 4+ bv = 1,
enu — b(u —v) =1 = ged(e,b) = 1.
Similarly, ged(c,a) = 1.

4. left to the reader.

Our next theorem seems simple, but is of fundamental importance.
Theorem 2.4.3. Euclid’s Lemma: If a|bc, with ged(a,b) = 1, then alc.

Proof. By virtue of Theorem 2.4.2, writing 1 = am + bn, where m and n are
integers. Multiplication of this equation by ¢ produces ¢ = 1-¢ = (am + bn)c =
acm + ben. Because alac and albe, it follows that a|(acm + ben), which can be

recast as alc. O

Remark 2.4.3. The condition ged(a,b) = 1 is necessary is evident from the
following example: 12|19 -8, but 1249 and 121 8.

Theorem 2.4.4. Let c,d be integers, not both zero. For a positive integer e,
e = ged(e, d) if and only if

1. elc and e|d.
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2. Whenever f|c and f|d, then fle.
Proof. Hint: Use Theorem 2.4.1. O

Simple application of the last theorem leads to the following proposition.

Proposition 2.4.5. Let a,b and ¢ be integers with ged(a,b) = 1, then ged(ac, b) =
gcd(e,b).
Proof. Let ged(c,b) = d. Its suffices to show that d|ab and secondly if k|ac and
E|b then k|d. Since d|c, 3 n such that dn = ¢ so (dn)a = ca = d|ca.

Next, 3 uw,v € Z such that d = au + cv. Since k|b, then 3 n such that
kn =b. Hence d = cu + knv. Since ged(a,b) =1 3 p, g such that ap+bg=1=
apc + bge = c.

. d = (apc + bgc)x + kny,
= axpc + bgcxr + kny.
But, klac = 3 r such that kr = ac.
oo d = krpz + kngcx + kny,
= k(rpz + nqcz + ny) = kld.

Hence using Theorem 2.4.4 we obtain the desired result. O

Remark 2.4.4. The Theorem 2.4.4 sometimes serves as a definition of ged(c, d).
The advantage of using it as a definition is that order relationship is not involved.

Thus, it may be used in algebraic systems having no order relation.

Euclid’s Algorithm

While finding the ged of two integers (not both 0), we can of course list all the
common divisors and pick the greatest one amongst those. However, if a and
b are very large integers, the process is very much time consuming. However,
there is a far more efficient way of obtaining the gcd. That is known as the
Euclid’s algorithm. This method essentially follows from the division algorithm
for integers.

To prove the Euclidean algorithm, the following lemma will be helpful.
Lemma 2.4.1. If a = gb+ r then the ged(a,b) = ged(b, r).
Proof. Let d = ged(a,b) and d, = ged(b,r). Then, d|a,d|b implies d|(a — ¢b)

1.e, d|r. Thus d is a common divisor of b and r, hence d|d,. Similarly, d, |b,d,|r
implies d,|(bg + ) 1.e., d,divides both a and b. Then, d,|d. Thus, d = d,, as
both d and d, are positive by our definition of gecd. O
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Theorem 2.4.5. FEuclid’s Algorithm: Let a and b (a > b) be any two integers

. If r1 is the remainder when a is divided by b, ro is the remainder when b is
divided by r1, rs is the remainder when r1 is divided by ro and so on. Thus

rnt1 = 0, then the last non zero remainder r, is the ged(a, b).

Proof. Euclid’s algorithm is an efficient way of computing the ged of two integers
by repeated application of the above lemma. At each step the size of the integers
concerned gets reduced. Suppose we want to find the ged of two integers a and b,
neither of them being 0. As ged(a,b) = ged(a, —b) = ged(—a, b) = ged(—a, —b),

we may assume a > b > 0. By performing division algorithm repeatedly, we

obtain
a=bqg +r, 0<r, <o
b=rgq,+r,, 0<r, <r,.
T, =T, + 7y, Ogrg §7“3.
,rn72 = Tn—lqn + Tn? O S Tn, S Tn,1
Tnfl = rnqn+1 + Tn+1’ 0 S ’rn+1 S Tn.
As we have a decreasing sequence of non-negative integers b > r, >r, > ... >
r, > .., we must have v, = 0 for some n. Then, by applying the previous

lemma repeatedly, we find that ged(a,b) = ged(r,,b) = ged(r,,r,) = ... =
ged(r,_,,r,_,) = ged(r,,r,_,) = r, . Thus, the last non-zero remainder r,_ in

n?'in—1

the above process gives us the ged(a, b). O
Theorem 2.4.6. If k > 0, then ged(ka, kb) = k ged(a, b).

Let us illustrate the statement of the above theorem with an example: ged(12,30) =
ged(3-4,3-10) = 3ged(4,10) = 3ged(2-2,2-5) =3-2gcd(2,5) = 6.

Proof. If each of the equations appearing in the Euclidean Algorithm for a and
b is multiplied by k, we obtain

ak = (bk)q, +r,k, 0<rk<bk.

bk = (r,k)g, + r,k, 0<rk<rk

rlk:(TZk)q2+r3k7 OSTSkST?)k
r, k=(r,_ kg, +r,k, 0<r k<r, .,k

r,_k=(r.k)q,., +0.

n—1 n
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But here the Euclidean Algorithm applied to the integers ak and bk, so that their

greatest common divisor is the last nonzero remainder r,_ k; that is, ged(ka, kb) =
r k= kged(a,b). O

Based on the above theorem, let us state and prove the following corollary:

Corollary 2.4.2. Its suffices to consider the case k < 0. Then —k = |k| > 0
and
ged(ka, kb) = ged(—ka, —kb)
= ged(|k|a, [k|b)
= |k| ged(a, b).

2.5 Least Common Multiple

There is a concept parallel to that of the greatest common divisor of two integers,
known as their least common multiple. Prime factorizations can also be used
to find the smallest integer that is a multiple of two positive integers(treated in
later chapters). The problem of finding this integer arises when fractions are
added.

Definition 2.5.1. The least common multiple of two positive integers a and b
is the smallest positive integer that is divisible by a and b, denoted by lem(a,b)

or [a,b].
The above definition can also be formulated as follows:

Definition 2.5.2. The least common multiple of two nonzero integers a and b
is the positive integer 1 satisfying the following:

1. all and b|l.
2. If alc and blc, with ¢ > 0, then | < c.

Example 2.5.1. We have the following least common multiple: lem(16,20) =
80,lem(24,36) = 72,1lem(4,20) = 20, and lem(5,13) = 65.

Remark 2.5.1. Given nonzero integers a and b, lem(a,b) always exists and
lem(a,b) < |ab|(Verify!).

Proposition 2.5.1. For nonzero integers a and b, the following statements are
equivalent(TFAE):

1. ged(a, b) = |al.
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2. a | b.

3. lem(a,b) = |b).

Proof. (1)=>(2): Let (1) holds. Then 3 n € Z such that b = |a|n. Now a > 0 =
b=an = alb. Again, a < 0= |a|] = —-1=b=(—a)n = b=a(—n) = alb. a|d.
Hence (2) holds.

(2)=>(3): Let (2) holds. Then a/[b| and clearly b||b|. Let ¢ be another common
multiple. Then a|c and b|c with ¢ > 0. Now b|c implies 3 n € Z such that ¢ = bn
and |n| > 1. Thus, |c| = [b]|n| > b which further gives |c| > |b| and by definition
|b| = lem(a, b).

(3)=(1): Let (3) holds. Therefore a’|b| = |a|‘|b|. Let ¢ be another common
multiple. Then 3 n € Z such that a = en = |a| = |¢||n|. But |n| > 1 = |c||n| >
lc| = |a| > |¢|-Therefore ged(a,b) = |al. O

The following theorem filled the gap between greatest common divisor and
least common multiple.

Theorem 2.5.1. Ifa and b are positive integers, then [a,b] = , where [a, b]

ab
(a,b)
and (a,b) are the least common multiple and greatest common divisor of a and

b, respectively.

Proof. Let us begin with taking ¢ = (a,b) and write a = cr,b = ¢s for integers r
and s. If [ = a—, then | = as = rb, making [ a (positive) common multiple of a
and b. ¢

Now let d be any positive integer that is a common multiple of @ and b, implies
d = au = bv. As we know, there exist integers k and [ such that ¢ = ak + bl. As
a result of which,

é—dc—wzilk'Jrélzvk+ulz>l|c:>l§c.
a

I ab  ab b
Hence | = lem(a, b) and [a,b] = _ab_ O
- ’ T (ab)

Remark 2.5.2. The alternate proof of the above theorem can be done using
the prime factorizations of integers a and b (for further details refer to chapter
Prime Numbers).

Corollary 2.5.1. For any choice of positive integers a and b, [a,b] = ab if and
only if (a,b) = 1.

Proof. Obvious. O
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We conclude this section with a simple but interesting proposition.
Proposition 2.5.2. For a and b be two non zero integers. Then

1. ged(a, b) = lem(a,b) if and only if a = +b.

2. If k >0, then lem(ka, kb) = k lem(a,b).

3. If m is any common multiple of a and b, then lem(a, b)’m

Proof. 1. Let us consider ged(a,b) = lem(a,b) = d. Now by Theorem 2.5.1
we get d = ab. Since d|a then dx € Z such that dx = a. This implies
d?> = dzb = d = 2b = b|d. Thus we have d|b and d|b which together
implies d = +b(by Proposition 2.2.1). By similar arguments we also have
d = +a. Therefore |d| = |a| = |b| implying a = +b.

Conversely let d = 4a holds. Then again by Proposition 2.2.1 we can
assert that a|b and b|a. This claims that gcd(a,b) = lem(a, b).

2. To prove this we are to start with ged(ka, kb) - lem(ka, kb) = k?|ab|. Then,

k ged(a, b) - lem(ka, kb) = k*|ab| [ by Proposition 2.4.2]
= ged(a,b) - lem(ka, kb) = k|ab|
= gcd(a, b) - lem(ka, kb) = k ged(a,b) - lem(a, b)
= lem(ka, kb) = k lem(a, b).

3. Let us consider I = lem(a,b) and by division algorithm 3 integers ¢ and r
such that m =lg+r, 0 <r <.

If » = 0 then obviously [ |m.

If 0 < r < [ then we can write r = m — lg. Since m and [ are multiples
of a and b then 3 integers z,y,u,v such that r = ax — ayq = a(z — yq)
and also r = bu — bvg = b(u — vq). This shows that r is a multiple of a, b
and this contradicts the fact I = lem(a,b). So r < I is not possible. This
proves our assertion.

O

2.6 Worked out Exercises

Problem 2.6.1. Ifa,b, c are integers, then ged(a, be) = 1 if and only if ged(a, b) =
ged(a,c) = 1.
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Solution 2.6.1. Let ged(a,b) = ged(a,c¢) = 1 holds. Then there exists integers

m,,n,,m, and n, satisfying
am, +bn, =1=am, +cn,.
Therefore

am,cn, +bn,en, =cn, =1 —am,,

= a(m, + cm,n,) + bc(n,n,) = 1.

As m, + cm n, and n,n, are integers, therefore ged(a,be) = 1.
Conversely, let gcd(a,bc) =1 holds. We are to show ged(a,b) = ged(a, c) =
1. Let ged(a,b) # 1. Then ged(a,b) = d implies there exists m,n such that

am—+bn=d
= acm + ben = cd

= a(em) + b(en) = cd.

Therefore ged(a,be) = cd(# 1), a contradiction. Thus both a,b and a,c are

coprime.

Problem 2.6.2. Prove or disprove: If a|(b+ c), then either alb or alc.
Solution 2.6.2. Hint: Take a =3,6=2,c¢=1"1.

Problem 2.6.3. If a|bc, show that a|ged(a,b) ged(a, c).

Solution 2.6.3. Let ged(a,b) = d, and ged(a,c¢) = d,. Then 3 x,y,u,v € Z
such that
d, = azx + by, & d, = au + cv.

Also, 3n € Z satisfying an = be. Now,
d,d, = (azx + by)(au + cv),
= a’zu + acxv + abuy + beyv,
= a(azu + cxv + buy) + anyv,

= a(azu + cxv + buy + nyv).
*. a|ged(a, b) ged(a, ¢).

Problem 2.6.4. Prove that if d|n, then (2% —1)|(2" — 1).
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Solution 2.6.4. We know that

a"—1=(a—1)(a" ' +a" 2 +.. . +a+1),
2T 1=(2-1)(2" P 4274 24 1),
L2t 1=2-1)@ 422 4 424 1).

Since dn, 3 x € Z such that de = n. Therefore

2" —1=2% _ 1 =(29)* 1,
= (27 —1)(24==D o od(@=2) |y 9d 1),
L (2T =1)@"—1).

Problem 2.6.5. Prove that the product of any three consecutive integers is
divisible by 6.

Solution 2.6.5. Here we need to show 6la(a+1)(a+2), for any arbitrary a € Z.

Let S =a(a+1)(a+2). Here 6 =3-2 and ged(2,3) = 1. If a is even, then
2la = 2|S. And if odd, then 2|(a+ 1) = 2|S. Let a = 3q+r, ¢,r € Z. Now
r=0,1,2. For all the values of r, 3|S (verify!). Hence 2|S,3|S together implies
6]S.

Problem 2.6.6. If a is an odd integer, then 24|a(a® — 1).

Solution 2.6.6. Let us first prove, a is of the form 8k + 1. Let a = 4q + r.
Therefore r = 0 or 3(Why!). Therefore

a’?=16¢> +8¢+1=8k+1, forr =0
a? =16¢%> + 24+ 9 = 8k’ + 1, for r = 3.

So a(a® — 1) = a(8k), for some k. Hence 8|a(a* —1). Therefore 6|a(a® — 1) =
3la(a® —1). As ged(3,8) = 1, hence 24|a(a® — 1) (Why!).

Problem 2.6.7. If a is an integer not divisible by 2 or 3, then 24|(a” 4 23).

Solution 2.6.7. Let a = 12g+r, q,r € Z with 0 < r < 12. But here, r =
1,5,7,11(Why!). Now

a® +23 = (12g +r)? + 23,
= 144¢® + 24qr + > + 23,
= 24(6¢° + qr) + r* + 23.
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Now, r =1 gives r*> + 23 = 24
r=>5givesr? +23 =48 =24 .2
r="7givesT? +23=T2=24-3
r =11 givesr> + 23 =144 =24 -6
. a® 423 = 24(6¢* + qr) + 24 - k, for some k.

Hence 24|(a® + 23).

Problem 2.6.8. Forn > 1, and positive integers a, b, prove that ged(a™,b") = 1
where ged(a,b) = 1.

Solution 2.6.8. For n = 1, the statement is obvious. Let us assume the
statement be true for n(> 1) = k i.e. ged(a®, %) = 1. Now ged(ak,bF+l) =
ged(a®, b%) = 1[refer to the properties of GCD]. Since ged(a,b) = ged(b,a) = 1,
then ged(ak, bF1) = 1 = ged (a1, pF+1).

Problem 2.6.9. For n > 1, and positive integers a,b, prove that the relation

a™|b™ implies alb.

Solution 2.6.9. The relation is obvious for n = 1. If possible, let us assume the
relation is true for n = k. Then a™|b™ implies a|b, which further implies 3 x,y
such that

b = za® & b=ay.

k+1
o xahT = abf = (b> W= e
Y Y

= ak+1|bk+1.

. .’L'yak+1 — bk:-‘,—l

Problem 2.6.10. Prove that if ged(a,b) = 1, then ged(a + b, ab) = 1.
Solution 2.6.10. Let ¢ be the common divisor of a+b and ab. Then ged(a,c) =

ged(b, ¢) = 1. Since c|ab and ged(c, a) = 1, then by Euclid’s Lemma we have c|b.
By similar reasoning, c’a. As ¢ < ged(a,b) =1=c=1= ged(a+b,ab) = 1.

Problem 2.6.11. Prove that the greatest common divisor of two positive inte-

gers divides their least common multiple.

Solution 2.6.11. Let a,b > 0. We are to prove ged(a,b)|lem(a,b). We know
that ged(a,b)lem(a,b) = ab. Let d = ged(a,b). Then 3, m,n such that a =
dn,b = dm.

d-lem(a,b) = (dn)(dm).
- lem(a,b) = d(nm) = d|lem(a,b) = ged(a, b)|lem(a, b).
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Problem 2.6.12. If a and b are prime to each other then prove that ged(a +
b,a’ +b%) =1 or2.

Solution 2.6.12. Let ged(a + b,a® + b?) = d. Then d|(a® + b?) < d|(a +
b)(a — b) + 2b%. Since d|(a +b), 3 = such that dz = a+b. Let m € Z be such
that

dm = (a+b)(a—b)+2b* = dm = dz(a—b)+2b> = d[m—z(a—b)] = 2b* = d|2b°.

Now combining the facts d’(a—f—b) and ged(a, b) = 1, we find ged(b, d) = 1(Why!).
Thus we get d 1 b, which implies d|2. Therefore d < 2 implies d =1 or 2.

Problem 2.6.13. Let a,b,c be integers, no two of which are zero, and d =
ged(a, b, ¢). Show that d = ged(ged(a, b), ¢) = ged(a, ged(b, ¢)) = ged(ged(a, ¢), b).

Solution 2.6.13. Firstly, we will show d = ged(ged(a,b),c). Let f = ged(a,b)
and g = ged(f,c). Now g|f = gla,glb. Here glc = g < d. Our next task is
to show d|f. Here for some x,y € Z, f = ax + by[refer to Theorem 2.4.1].
Now a = du,b = dv for some u,v € Z. Hence f = dux + dvy = d|f. Now
dlc = dlg = d < g. Hence combining, d = g holds i.e. d = ged(ged(a,b),c).
Proceeding as above, we can show that d = ged(a, ged(b, ¢)) = ged(ged(a, ), b).
Thus d = ged(ged(a, b), ¢) = ged(a, ged (b, ) = ged(ged(a, ¢), b).

2.7 Linear Diophantine Equations

Before delving deep into the topic, let us start with the following problem:

A person wishes to buy ice cream bar for a get-together at home. After going
to the ice cream parlour he came across with some flavours: one is chocolate bar
costing Rs.126 and another is strawberry bar costing Rs.99. He decided to buy
both combinations with a budget of Rs.2000. Now the problem is; whether there
exist any such combinations of these two flavours? To answer this, let k£ denote
the number of chocolate bars and [ denote the number of strawberry bars, the
person can purchase. Then we must have 126k + 991 = 2000, where both k and
l are nonnegative integers.

Now the need for Diophantine equation get along to find the solutions of a
particular equation, which follow from the set of integers. Diophantine equations
get their name from the ancient Greek mathematician Diophantus, who wrote
extensively on such equations. The type of diophantine equation ak + bl = c,
where a,b and c¢ are integers is called a linear diophantine equations in two

variables. We now develop the theory for solving such equations. The following
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theorem illustrates that when such an equation has solutions, and when there

are solutions, explicitly describes them.

Theorem 2.7.1. Let a,b be positive integers with d = ged(a,b). If d 1 ¢, the
equation ax + by = ¢ has no solutions(in integers). There are infinitely many
solutions(integers) if d|c. Moveover in particular, if x = x,,y =y, s a solution
of the equation, then all solutions are given by

a
r=x,+ En, Yy =1y, — 5N, n being an integer.

d

Before proceeding for the proof, first we demonstrate the above theorem for
finding all the integral solutions of the two diophantine equations described at
the beginning of this section. We first consider the equation 126z + 99y = 2000.
The greatest common divisor of 126 and 99 is ged(99,126) = 9. Since 9 1 2000,
we can say no integral solutions exist. Hence no combination of 126 and 99

rupees he can purchase.

Proof. Assume that x and y are integers satisfying axz+by = ¢. Together d|a and
d|b implies d|c(Why!). Hence if d { ¢ there does not exists any integral solutions.
So we assume that d|c. Then from theorem (2.4.1), for some integers s,t

d = as+ bt. (2.7.1)

Since, d|c there exist some integer e such that de = ¢ holds. Multiplying (2.7.1),
we obtain
¢ = a(se) + b(te).

Hence one particular solution of the equation is given by x =z, = se,y =y, =
te.

Now, to prove the remaining part of the theorem suppose x = x, + En, y =

a . . .
Yy, — =N, n being an integer. Since,

d
b a
ar +bl=a zOJrgn +b Yo = 4" =az, +bl, =c,

we see that (z,y) is a solution.
Next our claim is to show every solution of the equation ax 4+ bl = ¢ must be

of the form described in the theorem. since,
az, +bl, =c,
on subtraction we obtain

a(:c—xo)+b(y—y0):0:>a(x—mo):b(—y+yo). (272)
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Dividing both sides by d, we see that

a b

g(l'—xo) - g(_y+yo)
ab
d d

Lemma it follows %|(y0 — y). Hence there exists an integer n with %n =y, — Y

By virtue of Proposition 2.4.2, we know gcd< ) = 1. Also, using Euclid’s

means y = y, — gn. Now putting this value of y into the (2.7.2), we find

alx —x,) = b<§)n implies z = x0+<2>n. O

Example 2.7.1. A man wishes to purchase Rs 510 of travelers checks. The
checks are available only in denominations of Rs 20 and Rs 50. How many of

each denomination should he buy?

Answer 2.7.1. Consider the equation 20k + 501 = 510. The greatest common
divisor of 20 and 50 is (20,50) = 10, and since 10|510, there are infinitely many
integral solutions. Using the Euclidean algorithm, we find that 20(—2)+50 = 10.
Multiplying both sides by 51, we obtain 20(—102) + 50(51) = 510. Hence a
particular solution is given by k, = —102 and |, = 51. Theorem 2.7.1 tells
us that all integral solutions are of the form k = —102 4+ 5n and | = 51 — 2n.

Since we want both k and | to be nonnegative, we must have —102 4+ 5n > 0

102
and 51 — 2n > 0; thus, n > 102 and n < —. Since n is an integer, it follows
that n = 21,22,23,24,25. Hence we have the following 5 solutions: (k,l) =
(3,9),(8,7),(13,5),(18,3),(23,1).

2.8 Worked out Exercises

Problem 2.8.1. Ezamine the nature of the following Diophantine equations:
1. 14z + 35y = 93.
2. 33z + 14y = 115.

Solution 2.8.1. 1. Here ged(14,35) =7 and 7193, hence not solvable.
2. Here gcd(33,14) =1 and 1’115, hence solvable.

Problem 2.8.2. Determine all solutions, in positive integers, of the following

Diophantine equations:

1. 158z — 57y = 1.
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2. b4z + 21y = 906.

Solution 2.8.2. 1. To find the solution of this equation we need to find the
ged of 158,57. Now applying Euclid’s Algorithm, we obtain

158 =3-57—13 Again1=3-2=3—-(5-13)

57=4-13+5 =2.3-5=2(13-2-5)—5
13=2.5+3 —2.13-5-5

5=3-142 —=2.13—-5(57—4-13)
3=2.1+1 =22.13 557

=22(3- 57— 158) — 5- 57
= 61(57) + (—22) - 158.
Thus, ged(158,57) = 1. 7= (61-7)57 + (—22- 7)158.

Since ged(158,57)|7 = 7 therefore, an integral solution do exist for the
given equation. Hence (x,,y,) = (—154,—427) is an integral solution.
Hence all integral solutions of the given equation is of the form,

—57

x:7154+Tn:—154—57n>0 =>n<-27=n<-3

—158

y=—1510+ n=-1510—-158n >0 =n<-27=n<-3.

2. To find the solution of this equation we need to find the ged of 54,21. Now
applying Fuclid’s Algorithm, we obtain,

54 =2-21412 Again,3=12—-9=12— (21 —12)

21=12-1+9 =2.12-21
12=9-1+43 = 2(54—2-21) — 21
9=3-3+0 —2.54+(=5)-21.

Thus, ged(54,21) = 3 & 3[906. . 906 = (302 - 2)54 + (302 - (—5))21.

Since ged(54,21)[906 = 302 therefore, an integral solution do exist for
the given equation. Hence (x,,y,) = (604, —1510) is an integral solution.
Hence all integral solutions of the given equation is of the form,

21
m:604+§n:604+7n>0 =n> —86.3

—54
Y= —1510-1—7”: —1510 = 18n >0 =n < —83.9.
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Thus, n = —84, —85, —86, which gives (x,y) = (16,2), (9, 20), (2, 38).

Problem 2.8.3. Determine all solutions of the Diophantine equation 24x +
138y = 18.

Solution 2.8.3. First we need to calculate the ged of 24 and 138 . Here,

138 =5-24 + 18 Again, 6 = 24 — 18

24=18+9 =24 — (138 —5-24)
18=3-6+0 =6-24—138
Thus, ged(24,138) =6 & 6|18. .18 = (18)54 + (—3)138.
So the integral solution is xo = 18, yg = —3. Thus the solution of this equation

18,
138
xr = 18+(6)n =18+ 23n

24
y=—3—<6)n:—3—4n[nEZ].

Problem 2.8.4. A farmer purchased 100 heads of livestock for a total cost of
Rs.4000. Prices were as follow: sheep, Rs.120 each; hen, Rs.25 each; duck,

Rs.50 each. If the farmer obtained at least one animal of each type how many
had he bought?

Solution 2.8.4. Let us consider the variables x,y and z for sheep, hen and
duck respectively. Then from given hypothesis we have, x + y + z = 100 and
120x + 25y + 50z = 4000, where z,y,z > 1. Then 24x + by + 10z = 800 and
24z + 10z + 5(100 — = — z) = 800 holds. Combining last two equations yield
19z 4+ 5z = 300. Hence the solutions are x = 0, z = 60. Therefore

xr = bk, z =60 — 19k,

y =40+ 14k, k € Z.

Consequently,

5k>1=k>1
60—-19%k>1=k<3
404+ 14k > 1=k > —2.
Considering last three inequalities, we get 1 < k < 3 = k = 1,2,3. Therefore

the possibilities are 5 sheep, 54 hens and 41 ducks or 10 sheep, 68 hens and 22
ducks or 15 sheep, 82 hens and 3 ducks.
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2.9 Exercises:

10.

11.

12.

13.

14.

15.

16.

17.

. Prove that the expression

. Let a,b and ¢ be integers with ged(a,b) = 1. Then ged(a?, b?) = 1.
. Verify that 3a? — 1 is never a perfect square.

. For n > 1, establish that the integer n(7n? + 5) is of the form 6k.

For an odd integer n, show that n* 4+ 4n? 4 11 is of the form 16k.

. Verify that if an integer is simultaneously a square and a cube (as is the

case with 64 = 82 = 43), then it must be either of the form 7k or 7k + 1.

. If a|bc, show that a| ged(a, b) ged(a, c).

Verify the followings:
(a)the product of any four consecutive integers is divisible by 24;

(b)the product of any five consecutive integers is divisible by 120.

(3n)!
3H™

is an integer for all n > 0.

. Establish each of the statements below:

(a)If @ and b are odd integers, then 8|(a? — b%).
(b)If a is an arbitrary integer, then 6|a(a® + 11).

Assuming that ged(a,b) = 1, prove that ged(2a + b,a + 2b) = 1 or 3.
Prove that if ged(a,b) = 1, then ged(a + b, ab) = 1.
Find integers x, y, z satisfying gcd (198, 288,512) = 198z + 288y + 512z.

Use the Euclidean Algorithm to obtain integers x and y satisfying ged (1769, 2378) =
1769z 4 2378y.

Examine the nature of the Diophantine equation 14z + 35y = 93.
Determine all solutions in the positive integers of 158z — 57y = 7.
Determine all solutions in the integers of 221z + 35y = 11.

Mr.Sen had gone to a medical shop to buy two medicines: medicine A and
medicine B. By mistake, the chemist had given him the number of medicine
A in place of medicine B and vice versa.Unaware of the fact, Mr.Sen re-
ceived an extra amount Rs.68 from the shop keeper. Considering the price
of each medicine A and medicine B to be Rs.10 and Rs.15 respectively,

find the least number of medicine A, Mr. Sen wanted to purchase.
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18. One hundred packets of dry food are distributed among 100 persons in such
a way that every man, woman and child receives 3 packets, 2 packets, and

half a packet respectively. Find the total number of persons over there?
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